
Subject: age specific fertility rate using spss 
Posted by Michaelo on Sat, 07 Oct 2017 08:24:16 GMT
View Forum Message <> Reply to Message

Please kindly help me with calculating ASFR using Ghana dhs.
I used the syntax below to tabulate v238 with v013 to obtain number of births in the last three
years to women in each age group

DATASET ACTIVATE DataSet1.
MEANS TABLES=V238 BY V013
  /CELLS=MEAN COUNT SUM

However, when I divide birth by the population of women in the age group, the outcome does not
match with that of the GDHS report.  
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